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Solutions to Example 1:
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· Example 3
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Solutions to Example 3:
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Answer two questions about Equations A and B:

A -1=7

B. =8

1) How can we get Equation B from Equation A7

Choose 1 answer:

() Moty both sids by the same nonzc10 contant

My hide b sids by thesamevariale expresion

() Addrsubractth same auanyt/from b sides

(©  Adtisubiac  auantiy toffom only one side

2)Based on the previous answer, are the equations equivalent? In other words, do they have the same
Solution?

Choose 1 answer:
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Here are the basic actions we can do to a given equation to obtain an

+ Add/sublract the same quantity from both sides

+ Multply/divide both sides by the same non-zero constant

+ Rewrite one side (or bott) in an cquivalent way (or example, combining fike terms or
using the distributive property)

are these the only ways we con do that?]

Let's start by figuring out how Equation B is obtained from Equation A and then decide if they
are cquivalent.

o get Equation B from Equation A, we need t0 add 1 to both sides:

3 7
3r-1+1=T+1
=8

In other words,inorder o get Equation B from Equation A, we need to add/sublract the same
quantity to/from both sides.

Since thisis an action that preserves the solution, the two equations are equivalent.
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Answer two questions about Equations A and B:

A 2-1+32=0

B. 5z-1=0

1) How can we get Equation B from Equation A7

Choose 1 answer:

(B Adsisubirstthe same aansty /o bothsces

At quaniy oo oy one i
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(©) Rewteone sid o both uing the bt propety

2)Based on the previous answer, are the equations equivalent? In other words, do they have the same
Solution?

Choose 1 answer:

@ ves

® N




image2.png
/3 Here are the basic actions we can do (o a given equation 1o obtain an equivalent equation:

+ Add/sublract the same quantity from both sides

+ Multply/divide both sides by the same non-zero constant

+ Rewrite one side (or bott) in an cquivalent way (or example, combining fike terms or
using the distributive property)

[Ae these the only ways we can do that?]
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‘Basically, yes, but keep in mind we can perform a sequence of such operations and still obtain
an cquivalent cquation.

For example, we can add the same quantity (o both sides, then multiply by the same constant,
then subtract another quantity from both sides. The resulting equation wilbe equivalent, even
f we can't obiain it by performing only one basic action

Let's start by figuring out how Equation B is obtained from Equation A and then decide if they
are cquivalent.

o get Equation B from Equation A, we need to combine ke terms on the lefi-hand side of the.
cquation:

2 1+32=0
2r+3x-1=0
5r-1=0

In other words,inorder to get Equation B from Equation A, we need to rewite one side (or
both) by combining ke terms.

Since thisis an action that preserves the solution, the two equations are equivalent.




image4.png
Answer two questions about Equations A and B:

A sz=2

B. z=4

1) How can we get Equation B from Equation A7

Choose 1 answer:

() Moty both sids by the same nonzc10 contant

My hide b sids by thesamevariale expresion

() Addrsubractth same auanyt/from b sides

(©  Adtisubiac  auantiy toffom only one side

2)Based on the previous answer, are the equations equivalent? In other words, do they have the same
Solution?

Choose 1 answer:
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Here are the basic actions we can do to a given equation to obtain an equivalent equation:

+ Add/sublract the same quantity from both sides

+ Multply/divide both sides by the same non-zero constant

+ Rewrite one side (or bott) in an cquivalent way (or example, combining fike terms or
using the distributive property)

are these the only ways we con do that?]

Let's start by figuring out how Equation B is obtained from Equation A and then decide if they
are cquivalent.

o get Equation B from Equation A, we need to divide both sides by 5

52=20
5220
)

In other words,inorder to get Equation B from Equation A, we need to multiply/divide both
sides by the same non-zero constant.

Since thisis an action that preserves the solution, the two equations are equivalent.




